These questions you may already know the answers to as they have been CLIC Learn Its in the past:

2x3= 2x5=

3x2= 5x2=

Ox2= 5x 10 =

2x0= 10x5 =

The next multiplication questions are ones that we haven’t learnt the tables for in CLIC yet
so you might need to use a method to solve the questions.

Use what you learnt last week and use an array!

You'll notice there are squares to help organise your arrays. If you're doing this in your
Remote Learning Book, just try to draw arrays neatly using the lines in your book.

Example:

There are two arrays you could use to help you solve 6 x 4 or 4 x 6:

bx4=| 24 bx4=| 24




8x 4= 3x5=




